Dividing Money (A)

-

10.

Calculate each quotient.

42) $873.60 2. 54) $5194.80 3. 15 ) $861.00
74') $2501.20 5. 68) $3726.40 6. 18 ) $403.20
48') $2678.40 8 96) $3398.40 9.  81) $4730.40

If 15 identical lanterns cost $969.00, how much did each lantern cost?
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Dividing Money (A) Answers

10.

$ 20.80

42 ) $873.60

—$840.00

$33.60
—$33.60

$0.00

$ 33.80

74') $2501.20

—$2220.00

$281.20
—$222.00

$59.20
—$59.20

$0.00

$ 55.80

48') $2678.40
—$2400.00

$278.40

—$240.00

$38.40
—$38.40

$0.00

2.

Calculate each quotient.

$ 96.20

54) $5194.80

—$4860.00

$334.80
—$324.00

$10.80
—3$10.80

$0.00

$ 54.80

68 ) $3726.40

—$3400.00

$326.40
—$272.00

$54.40
—3$54.40

$0.00

$ 35.40

96 ) $3398.40
—$2880.00

$518.40

—$480.00

$38.40
—$38.40

$0.00

$ 57.40

15 ) $361.00
—$750.00

$111.00
—$105.00

$6.00
—$6.00

$0.00

$ 22.40

18 ) $403.20
—$360.00

$43.20
—$36.00

$7.20
—§7.20

$0.00

$ 58.40

81 ) $4730.40
—$4050.00
$680.40
—$648.00
$32.40
—$32.40

$0.00

If 15 identical lanterns cost $969.00, how much did each lantern cost?

$64.60
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